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0l &
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01 =LA bl 4,200 3,200 1,000
M2 JI20tl 4,200
FA2E SUHAEH 3,200
ONEMRA 29 ZUHYI 1,000
405 KH&HFSHI 5,000 0 5,000
01 ML ESHSHI 5,000 0 5,000
@S A (10H) 5,000
HRES (D2 2AA!) 768,860 359,672 409,188
SN 768,860 359,672 409, 188
s 2el 768,860 359,672 409, 188
311 XS0l At&E 355,660 340,872 14,788
04 SLEIXL SO0 XS 355,660 340,872 14,788
@323z 22l Jl=s 355,000
OstNd=s3HITE ALY 355,000
@Zed SEH 660
O 19%4 ot 660
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Ostd=s3HITE ALY 400,000
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02 5234l 14,200 3,152 11,048
ONSAML B8z K& 14,200
= 7,100
i 7,100
KA g™ 23 18,800 10,450 8,350
201 LBt 3| 16,800 9,450 7,350
01 AtE222|Hl 16,800 9,450 7,350
@OXIAZ=SXNE M & SXNAE ST A
= 70,0003 x60H x4 3] 16,800
301 EtEA = 2,000 1,000 1,000
10 EALAHIZEAS 2,000 1,000 1,000
@XNSGAME=EXNEAM WE L HAF &S 2,000
Hdd=2 02 = 1,300 3,300 A2,000
301 et24a = 1,000 3,000 A 2,000
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= 6,396,557
= 1,000
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FOMET A
2% LEME O
CIEXNAEIA WS (el =3
SN EE - ER(EN) - NRAY - BaS e HlRE2
0 & 24
Lo =EXNMEIA WS 287,734 162,214 125,520
= 1,600
= 4,504
= 281,630
LS OISHAL KA 78,350 75,350 3,000
307 QI2t0IA 78,350 69,350 9,000
04 QIHHALE X 78,350 69,350 9,000
OZAT Lolgitelgtesl &t 1,500
@O COIXIEX GHAH==E3 50,0003 266 H 13,300
@00l AL 40,000
@oiE 299 8,400
@O XEA AR 6,150
OZANZ NG =M &0t 9,000
LolAA A 3,200 3,200 0
= 1,600
= 1,600
301 YptEaazg 3,200 3,200 0
= 1,600
= 1,600
01 AlsIEE A =0l= 3,200 3,200 0
@ QIAH AR EH( Bt 50,0003 64 3,200
= 1,600
i 1,600
ors=ss g 23 23,584 23,264 320
101 Q14| 23,584 23,264 320
04 JIZHMIZZ2XESE = 23,584 23,264 320
@OS=2XNE2EF A 1,792
oJlE2s 37,790% x1H »249 9,410
ORsSFgxE 37,7903 x1H 52 1,966
OgXr=5II=rE 37,703 x1E+11 416
©O3=XE SAE ¢ 11,792
oJleg 37,7903 x1H *249 9,410
ORsSsgdsY 37,790 x1H «52 1,966
OUXtRETIH=Y 37,790 x1H«11L 416
ssxigegl N 20,000 20,000 0
L= 4,000
i 16,000
201 Let2g| 19,000 19,000 0
& 3,800
i 15,200
01 AtE22lHl 9,000 9,000 0
@lls=s=ig 249 9,000
= 1,800
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_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
= 7,200
02 IZ2Y| 10,000 10,000 0
@ols2sSHY 2Y 10,000
= 2,000
2 8,000
301 LPB A 1,000 1,000 0
= 200
2 800
12 JIE2 A3 1,000 1,000 0
@olES2STHY 2Y 1,000
= 200
2 800
COXT R ei43] 2,520 0 2,520
= 504
2 2,016
301 LPBAI 2,520 0 2,520
= 504
2 2,016
10 BAAEI 242 2,520 0 2,520
@LAXEX Sas| &A 2,520
= 504
2 2,016
SelAle 2E Y| 10,080 8,400 1,680
202 01t 10,080 8,400 1,680
01 =2Uioibl 10,080 8,400 1,680
ero=NYe = 10,080
COIBARA WA 150,000 0 50,000
401 Al&HIL 20| 150,000 0 150,000
01 Al&H] 148,920 0 148,920
@EQEARA HES(14) 148,920
03 Al& S H| 1,080 0 1,080
@EBARAL HEA(141) 1,080
Ol MEOIE X & 11,244,348 10,771,408 472,940
= 8,562, 153
= 29,650
= 511,969
, 2 2,120,576
HASTIHE O AA Y 85,400 85,200 200
= 27,250
2 58, 150
206 2| 500 300 200
01 W&l 500 300 200
@AAHE TAIZ 2 5,0002 *1002 500
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= o FSJE =
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il b o B2
301 LPBAI 76,500 76,500 0
= 27,250
2 49,250
NIEEEERSTE 76,500 76,500 0
OHASTHI Ol
3,00021 1002 x2552! 76,500
= 27,250
2 49,250
307 Q20| 8,400 8,400 0
EIEEES 8,400 8,400 0
@AAME HESAX SEH X2 8,400
OSEH NA(S) 10,0008 1S +58x602 3,000
OSBH XA(H) 10,0002 %9041 x602 5,400
Colgiel Xie 4,800 4,800 0
= 2,400
2 2,400
307 2120l H 4,800 4,800 0
= 2,400
2 2,400
02 pIABNBE 4,800 4,800 0
@Yl OHRIAY 4,800
= 2,400
2 2,400
colgxiel XE(21) 728,100 640,890 87,210
= 364,050
= 70,380
2 293,670
307 Q20| 728,100 640,890 87,210
= 364,050
= 70,380
2 293,670
02 BIABNBE 728,100 640,890 87,210
@LoUne X 728,100
= 364,050
= 70,380
2 293,670
IELYeZ N (2D) 10,033,650 9,739,363 294,287
= 8,026,920
= 401,346
2 1,605,384
301 YsrPAS 10,033,650 9,739,363 294,287
= 8,026,920
= 401,346
2 1,605,384
01 AtBIBEE 263 10,033,650 9,739,363 294,287
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8,026,920
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1,605, 384

H

de=E 119,280 135,600 216,320

23,856
95,424

U

301 et2as 119,280 135,600 A 16,320

23,856
95,424

UL

SES = 119,280 135,600 216,320
=&(5809) 119,280

23,856
95,424

Mk

LOoIEEMEIA AIH(Z21) 273,118 165,555 107,563
191,183

16,387
65,548

MM

101 1A H] 116,038 103, 341 12,697
81,227
6,962
27,849

W

04 JIZHMIZ2XESE =+ 116,038 103, 341 12,697
=)

JIZ2MHIA A 116,038
81,227

6,962
27,849

MW

307 2120l & 157,080 62,214 94,866
109,956

9,425
37,699

H W

= 157,080 62,214 94,866
= SEAMEIA ALY 157,080
109, 956

9,425
37,699

05 BIZt
0

MW

LOoAE 2EXH 1,821,940 2,401,237 A579,297
17,400
664,991
1,139,549

M H1 AD

COdEAE SEAN XE 107,342 121,983 A 14,641

54,744
52,598

U

301 et as 107,342 121,983 A14,641

54,744
52,598

U

01 MaI2EH =63 107,342 121,983 A 14,641
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OL-OIMEAL IS SSAX K& 107,342
& 54,744
iy 52,598
ANz XS BCHUE2 1,607,363 1,846,855 A239,492
= 610,247
iy 997,116
301 2EtEAZ 1,607,363 1,846,855 N239,492
= 610,247
iy 997,116
01 M2 E G2 1,607,363 1,846,855 N 239,492
@LEOIMEAE ZCUES(AMES0H) 1,196,563
== 610,247
iy 586,316
@OLQIMEAE ZCHES(MHIII=20H) 410,800
Lo=sxgezd 56,835 242,291 N 185,456
= 17,400
o 39,435
101 ol 24| 25,935 101,691 NT5,756
04 JIZHMZ2ZANHSE s 25,935 101,691 ANT5,756
®AFSI = XA 13,997
o=z 44,8603 x2H 125 11,215
OxR3sdrY 44,8603 x2H »26 2,333
OUXRSHIY 44,8603 x2H x5 449
(OF\F=F=x 5,896
oJIEa 37,7903 x1H x 125 4,724
OR3IEFY 37,790& x 14 »26 983
O¢XRIseds< 37,7903 1 x5! 189
OEGE:! 5,722
OJI=23 36,6703 x1H 125 4,584
(OR=a=F=Rl1Eay=, 36,6703 x1H x26 954
OdXt"asdse 36,670 x1H x5 184
OAMIEXNEY DUHAKOIZEMZ22XF) o]
160,000*2H 320
201 Yereo| 17,400 110,600 93,200
= 17,400
01 AFE22elbl 5,400 18,600 A 13,200
@O ol=Xg 2 detAH| 5,400
= 5,400
02 5294l 10,500 42,000 A 31,500
@OLo=EXg2 232%| 10,500
= 10,500
03 SHAIEGHI 1,500 50,000 A48,500
@OLo=X ZT2dH 29 1,500
= 1,500
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301 et a= 13,500 30,000 A 16,500
10 BAIAHIE2 oS 13,500 30,000 A 16,500
@LeENE2Od AR 13,500
Cosxa Ad 23 48,000 0 48,000
206 M= dl 48,000 0 48,000
01 M=l 48,000 0 48,000
@el=sX2 Ad 29 48,000
ColESFHMENHA 2,400 0 2,400
301 LetE2d = 2,400 0 2,400
01 MaI2EH x5S 2,400 0 2,400
OLASSHFE 2EH NE 2,400
d=z¢ gda A& 1,092,000 1,192,590 A 100,590
= 95,500
= 11,000
= 111,300
7 2 874,200
22E &=3lZg8 29 22,000 0 22,000
= 11,000
= 11,000
301 LetE2d= 22,000 0 22,000
= 11,000
o 11,000
10 SAHAHIEA S 22,000 0 22,000
@EZ O ZA= 100,000 =42 »55& 22,000
& 11,000
= 11,000
22E &=3Z2 08 2|t X 18,000 18,000 0
= 3,600
= 14,400
101 el 24| 18,000 18,000 0
= 3,600
o 14,400
04 JIZHNZZ2XASE> 18,000 18,000 0
@ZEY &3 T2 22Xk KA 18,000
S 3,600
s 14,400
dzg el X2 38,600 38,000 600
= 7,720
= 30,880
307 2120l A 38,600 38,000 600
= 7,720
= 30,880
02 It a2 x 38,600 38,000 600
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SN EoIME
o B3 LSME P
ool ARY NS KR (sl &
SM-EH . C(BH) - HRAY - B2 Ofl Ak 04 %ggf; HRs2
@Z2Y el X 38,600
& 7,720
2 30,880
d2g 29y X 404,400 11,400 393,000
= 80,880
= 323,520
307 RI2HOIH 404,400 11,400 393,000
= 80,880
= 323,520
02 BI2tAAE X 404,400 0 404,400
@Z2Y 2gdl N 404,400
& 80,880
2 323,520
B2Y - = 100,000 150,000 250,000
401 AIZBIL 20| 100,000 50,000 A50,000
01 Al&H| 97,851 145,725 ANAT 874
@OUH Z2J3cl 22 =5 68,523
@3E AAHR ArY Z= 29,328
02 Zeldl 2,149 4,275 A2,126
O R 2L =5 1,477
@sEe Haiel ARy ZHE 672
A=Y HE=S 100,000 100,000 0
401 A &HIL 2048 100,000 100,000 0
01 Al&H| 100,000 100,000 0
@Z2Y HE=> 100,000
AZ2EEIANE HEHEH 18,000 17,190 810
201 B3| 18,000 17,190 810
01 AtE222/Hl 18,000 17,190 810
@FEIIAL HEHY 90, 0002 *2007H 2 18,000
A2 A=E 200,000 0 200,000
401 A &HI YL 204 200,000 0 200,000
01 Al&t| 195,400 0 195,400
@3 2102l A2Y &= 195,400
02 Zeldl 3,360 0 3,360
@322l 224 M= 3,360
03 Al =CHEl 1,240 0 1,240
@520l 22 &M= 1,240,000 1,240
ARG W) 23(21) 191,000 0 191,000
2 95,500
= 19,100
2 76,400
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el

M- ®=Z . Che (5 HALO . HA D oH &EIE 5 =02
405 XH&HFESHI 191,000 0 191,000
= 95,500
& 19,100
= 76,400
01 XL SEZFHSHI 191,000 0 191,000
@©ZZ2E d HED 191,000
= 95,500
& 19,100
= 76,400
St 222 K& 91,284 88,864 2,420
ZAANE 2E 71,284 48,864 22,420
101 el24H| 15,822 23,264 AT, 442
04 JIZtMZ22XNsE+ 15,822 23,264 AT ,442
@J12tH22 Akel 24| 15,822
oJlE=s 36,6703 x2%H x 132 9,681
oORE85dsY 36,6703 x2H x30 2,201
osagesg 180, 0002 *38 *6 2 3,240
O4liEE s NEXN Y3 700
201 et 17,000 25,600 28,600
01 AtSR2t2ldl 3,000 6,000 A 3,000
@O AAIE 2ZHI 3,000
02 =234l 14,000 19,600 A5,600
@OEAMAE S32 14,000
307 QI2t01™ 38,462 0 38,462
05 2IZtRAEZ 38,462 0 38,462
@OEAMAE 29 O 38,462
SUNINE=D] IE 20,000 40,000 A 20,000
401 AIEHIZ 2O 20,000 40,000 A20,000
01 Al&HI 20,000 40,000 A 20,000
OFAAE JHE S 20,000
HFOeI=X 20 = A 4,299,010 4,294,729 4,281
= 1,196,653
= 551,105
& 655,498
[ 1,895,754
oI =X ALY 461,829 517,663 Ab5,834
= 200,408
& 34,502
= 226,919
Fool 2t A EBHAL 29 30,200 30,200 0
301 LEtEAZ 2,200 2,200 0
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M HQI=R HD 2 A
Sl ZOROIZRIAL (e
_ _ _ Muo
A B3 C9(30) - MRAY - B2 Ao il i~ o Rz
307 2I2+0IH 24,000 24,000 0
= 4,800
2 19,200
05 PIZteIES 24,000 24,000 0
@A ATE THY2A(1NA) 24,000
= 4,800
2 19,200
Zojol2sisole BEX 2,700 2,700 0
307 2120l H 2,700 2,700 0
02 BIABABE 2,700 2,700 0
@F0je 2tz Sotel 2 2,700
OHQI =X UXt2IALY DhEH(=2) 24,682 12,111 12,771
= 12,441
= 2,488
2 9,953
307 212+0IH 24,882 12,111 12,771
= 12,441
= 2,488
2 9,953
05 PIZteIEr2 24,682 12,111 12,771
O@FHAST AX2ANS AL 24,882
= 12,441
= 2,488
2 9,953
STON ALSIEOISHTH XIR ALY 8,288 22,814 £14,506
307 2120l H 8,283 22,814 A 14,526
05 PIZteIEr2 8,283 22,814 A14,506
@OIEHQ ALBIEO X & 8,283
OIZ=ZOfQl FE T AL 19,000 19,000 0
= 9,500
= 2,850
2 6,650
307 2120/ H 19,000 19,000 0
= 9,500
= 2,850
2 6,650
05 PIZteIErS 19,000 19,000 0
OSHEZHO FEIHEAY 19,000
= 9,500
= 2,850
2 6,650
352 BOISEH X 2,160 2,160 0
= 432
2 1,728
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SN FOIMET A
M ROHCIZX D 2 AS
CHel: ZOHQI 2 XA (&te @
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
@EXIIE BXAEIH HE 50
ZOHQIALSI S X (IR H) 102,557 157,196 54,639
= 71,790
[= 6,153
= 24,614
307 QIzZto| A 102,557 157,196 A54,639
= 71,790
[= 6,153
= 24,614
05 It E2 102,557 157,196 A54,639
@OXOQ AZES XK (HSRH) 102,557
= 71,790
[= 6,153
= 24,614
A2ZEEOHQI OFOFAMHIA EAI|TH 9,600 9,600 0
307 QI2to|A 9,600 9,600 0
05 BI2+QEt=2 9,600 9,600 0
@A 2ZEEONO! OFOFAIHIA B AITH
400,000 x2H « 120 & 9,600
EHESHMQ SsE2XXL 11,520 11,520 0
[~ 2,304
= 9,216
307 QIZto|A 11,520 11,520 0
[= 2,304
= 9,216
05 BI2+QIEt2 11,520 11,520 0
©O=H ESHHQ &= 22X 11,520
[= 2,304
= 9,216
ALE2E 00 ZONCIED I e XRA(=20) 12,000 6,000 6,000
= 8,400
[= 720
= 2,880
307 QI2to|A 12,000 6,000 6,000
= 8,400
[= 720
= 2,880
05 BI2+QIEt 2 12,000 6,000 6,000
OALEH2H 0 RS2 I AHLEX 12,000
= 8,400
[= 720
= 2,880
AMSIEXAIE BHSAAL 2 14,177 0 14,177
101 Q14 14,177 0 14,177
04 JIAHZ2Z2NEES 14,177 0 14,177
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ZOoHeI=X =0 2 A
HOHI =S XA (ctel: &
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. = e o Y ° . = (L] 04”:"% Lsa
@OAZFAA(12]) 14,177
oJles 44 8603 »1H 253 11,350
ORsSxgsY 44 8603 x1H x5 2,333
OUXRESHFII=E 44,860 x1H+112 494
ZoHel ESXA(=1) 63,968 0 63,968
= 44,778
& 3,838
= 15,352
307 QI2t0IA 63,968 0 63,968
= 44,778
& 3,838
= 15,352
05 2IIRAES 63,968 0 63,968
@©Fe X 63,968
= 44,778
& 3,838
= 15,352
AT AIUZED] 7,240 0 7,240
& 1,448
= 5,792
402 SItXHE01H 7,240 0 7,240
L= 1,448
= 5,792
01 SIAG2EX 7,240 0 7,240
@OEAUZOR AIZBED] K& 7,240
& 1,448
i 5,792
HeIAlY 23 3| 5,040 6,720 21,680
202 O4Hl 5,040 6,720 21,680
01 =Wl 5,040 6,720 A 1,680
@ =XNYR F& 5,040
HASZT0Hel Meotd XI& 1,351,001 1,261,344 89,747
= 946,227
L= 80,973
= 323,891
o+ (=1) 291,429 689,682 A 398,253
= 204,000
= 17,486
= 69,943
301 Ypt8azg 291,429 689,682 A 398,253
=2 204,000
& 17,486
= 69,943
01 AISIEE " =03 291,429 689,682 A 398,253
OEM=Y 291,429
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201 et 10,800 9,450 1,350
03 A2 ZHI 10,800 9,450 1,350
OXNHZHEXXEHH sEME S A
80, 000& »45H x33] 10,800
HEAMHA SE ML 20,100 13,100 7,000
HEMHIA A2 20,100 13,100 7,000
201 LBt 3AH| 20,100 13,100 7,000
01 AtS 22/t 20,100 13,100 7,000
BEMHAHY BRE SEHE
12,000& 8005 9,600
CEIMUANT B8 TN
3,500& *1,000% 3,500
@OAEZ10 M 7,000
o= 2,500,000& 104 2 2,500
oS¢ 450,000 1004 2 4,500
A 5,646 5,560 86
= 5,646
UHZEGISA OloiA K& (=212) 5,646 5,560 86
= 5,646
201 B3| 5,646 413 5,233
= 5,646
01 AtE22(Hl 5,646 413 5,233
@2 HZEot ZHSEOIoHEAt 234 5,646
= 5,646
g3 =28 8 1,894,558 1,813,374 81,184
= 62,072
L= 9,814
= 1,822,672
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sy SEPAPNE=Fsinl}
Mz MY 2A RE
Cel: HENLG =& (St &=
_ _ bSNE =
N33 . c2(3H) - NEME - HES A oH @;OH Hl =2
MB35 =3 923, 155 772,240 150,915
= 46,232
= 876,923
LA™ LA 235 2,000 2,000 0
303 ZAZ 2,000 2,000 0
01 ZTa2 2,000 2,000 0
@O2RATIE=H HEHE Ala 2,000
CHIS A0 2el 309,500 337,400 227,900
201 LEt2HH| 40,500 54,400 213,900
01 AFRZ2lH] 40,500 54,400 A 13,900
@ATEYNH 2 270,000 *150USER 40,500
405 KHAHE S 269,000 283,000 214,000
01 MHARSEFSH 269,000 283,000 A 14,000
@AEH 2 1,300, 0002 *120CH 156,000
@akerst DLULIE 2 (a0l & )
1,500,000 x10CH 15,000
@RRANR CHEo2 DLH RYU(EIILA
) 700,000 *15CH 10,500
@2y 2 500,000 »35CH 17,500
@IRT PCE™E 2 & 28 I=E(14]) 70,000
HOIX 299 600 3,100 A2,500
201 LErRHH| 600 600 0
01 AtR22t2lH] 600 600 0
@EHO0IX HHOS AR 600
122 2el 251,980 21,980 230,000
201 L2 AH| 1,980 1,980 0
01 AFR2t2lH] 1,980 1,980 0
@z T2 100,000 105 1,000
@HEZIMNAF EHA 70,0002 *5H %23 700
@®J|2=25Italog &
70,000 2% x23] 280
405 KHAHE SH 250,000 20,000 230,000
01 MY SEFSH| 250,000 20,000 230,000
@OSEAERX 2= 250,000
SN DE)|BAIAE X 70,780 234,000 A 163,220
= 24,920
= 45,860
201 LEt2HH| 70,780 124,000 A53,220
= 24,920
= 45,860
01 AFRZt2lH] 62,300 124,000 261,700
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R . CQ(FH) - MIEAMY - BHA2 AF OH dEE Hn=2
= 7 s NlFAIE - 5SS o= 04| AFOH 1Lss
@OsS|et AIAE 2= 62,300
= 24,920
= 37,380
2 SS294| 8,480 0 8,480
@©3SI|BAAE(RIMSE)RAES 8,480
i 23 29 210,625 146,525 64,100
28-2HH| 135,625 70,566 65,059
A 2tel | 5,500 2,500 3,000
@OHMNAZE 2 500
@OIDEYOIMEZRE ABE 2 5,000
S=294| 130, 125 68,066 62,059
@I=YO0IAERH RAES 1,700
@AY SXNES 35,400,000 *8% 2,832
@Y FAE> 34,125,000& *8% 2,730
@®O=HOIX SXNE= 1,500,000& ~12& 18,000
@MU EB XA AH QXL
260,000 «12& 3,120
@A X| (Netvault) R X 24
12,500, 000& *8% 1,000
CETNENSEAAEHMN) S K2
131,390, 090*8%=* 1. 1 11,563
@OENSHIIEAAL(S/NESXE S
43,791,750%15%1. 1 7,226
OXZZAIAE X E2=(H/W)
227,000,000 8%+ 1.1 19,976
@OXZZAAE X E2(S/W)
35,200,000%15%* 1. 1 5,808
@OXSHAAE X2 4=(0B) 5,200
EXI|IES2AMAE SXE 4= (H/W,S/W) 24,000
EX)|IESHANAE RXEZ4(0B) 4,400
@O XIZ2|AAE SAE 349,000& +x10& 3,490
CEBSUSEE PCHZIAAE SAE$
120,000& x9& 1,080
@R (828 5], UPSS)Rm A2+ 3,000
@OHHIZEAAEH QA B 15,000
AR SHHS K201 A 50,000 75,959 A 25,959
SISO St ArE i 50,000 75,959 N25,959
@©330Igt & HESEAAE RAES 50,000
AR S H| 25,000 0 25,000
AL EFFHSH| 25,000 0 25,000
OAAEA UPS BHE 2l 2 X 25,000
NZFAHEFZAIAL S EH WX 66,750 16,315 50,435
= 21,312
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o HEs 2H 7
e HEERD XA (er9: @@
M- (B H) - HEAY - B2 Al OH &EIE Hn=2
co=m s IR ° - = S = =5 0:”/|l|,% Lsa
= 45,438
201 LBt A Y| 66,750 16,315 50,435
= 21,312
= 45,438
01 AtR22lH| 66,750 16,315 50,435
@OAlIZ 66,750
= 21,312
[ 45,438
HeIAIY 2323 10,920 10,920 0
202 O4Hl 10,920 10,920 0
01 =LA bI 10,920 10,920 0
(OFSE=k-); 10,920
23 =& 152,915 142,924 9,991
= 15,840
& 3,564
= 133,511
d2302 2¢Y 12,480 12,480 0
201 LEt23| 280 280 0
01 AbR2t2lH| 280 280 0
@ER N LUV FHLY
00& 4% 280
301 LEtEAZ 12,200 12,200 0
07 S12+ol=2| (| 3,000 3,000 0
@ELS0tE =0 il 1,500,000 x2H 3,000
10 SALAHIEA = 9,200 9,200 0
@©&FLZs0tE 32 7,000
@& =Esiotg =0l
*5H*4H 0t S 2,200
HB30E =434 56,720 61,945 ANb5,225
= 15,840
& 3,564
[ 37,316
307 QI2t01 A 56,720 61,945 N5,225
= 15,840
& 3,564
= 37,316
02 glz2+t& & 56,720 61,945 Ab5,225
(OF=X=—| 56,720
= 15,840
& 3,564
= 37,316
AYE3 2 40,715 35,999 4,716
201 e2d 40,715 35,999 4,716
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A XS

M ¥ 28 P
Selr RSN JIgAE 2E (e &
- _ _ ME
SN -3 S2ARAH) - MFAY - BES Ol &t oH 0] Ak o Hlns2
| | = 25,000
HZSHTH 29 703,502 433,010 270,492
RIME BRANAH DE 8.870 4,800 4,070
201 ger2g 8.870 4,800 4,070
02 32| 8.870 4,800 4,070
OENLBABE 400,0002 * 122 4,800
©SHUSAH R X2 2= 4,070
nEd| 29 88,320 83,700 4,620
201 ey 88,320 83,700 4,620
02 32| 88,320 83,700 4,620
@YUEHEEIQZ 4,500,0002 * 122 54,000
@HAFSA FUREI| R S4H|
1,000,0002 * 12 12,000
@I WS (S AL 4) R X 24|
1,860,000 x12& 22,320
IR SHY 29 545,952 283,130 262,822
201 ger2g 295,952 283,130 12,822
01 At2eld] 15,000 15,000 0
@uAl AZEFO P 30,000 *500USER 15,000
02 332l 280,952 268,130 12,822
@HOIEEEs S 23 16,200,000& x12& 194,400
@ZeR2 ZNSSHY 23
2,700,000 x12& 32,400
©LS5HAH (VPN)SXI 240l 933,0008!*128 11,19
@TUSHER 018 YL 2Rl
2,500,000 *23| 5,000
Y (S ALL BAXL)RNES
616,000 122 7.392
OLAARIX RN 2% 130,000 x 122 1,560
©ZHFHI(IPS, TMS) RXIZ=
882,000%! * 12 10,584
@UIER Y| (M3 Switch) R A 2%
1,535,000% * 12 18,420
405 XH&HE S| 250,000 0 250,000
01 &L SEFSH 250,000 0 250,000
@YURY WRALX 0|53 L PETE(14]) 250,000
HYSNY 2 48,600 50,520 ~ 1,920
201 Lered| 25,600 48,520 N22,920
01 AtR2el] 4,000 4,000 0
QUEHZRIE 228 500,000 *43] 2,000
OSHARE 500,000 *43] 2,000
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A XS

MmNy
ool BHEANTY 2Y (el @g
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl &+ 04 il b o HRs2
02 22| 21,600 44,520 £22,920
@HHEA MROYY 23 300,000 128 3,600
@HHEA MM 22 1,000,008 128 2,000
@oISH3R2 400,0002 *122 4,800
@EAIXE I UBEE U MB35
50,0002 *43| & *63] 1,200
405 XtaHE S| 23,000 2,000 21,000
01 KA YSEFH S| 23,000 2,000 21,000
@O0l E417121(4Th) 2,000
QENUAASTAANALY 2H(14]) 21,000
sasloa 29 1,200 300 900
201 Yot Y| 1,200 300 900
02 Iz22| 1,200 300 900
CEINCERERES I 1,200
Sl ALY 22| 10,560 10,560 0
202 01t 10,560 10,560 0
01 2Uoibl 10,560 10,560 0
EEBEMNTY 22 7 9,360
@EBEL ABH A FZ 1,200
HHSAHY (MBI D) 8,964,209 8,144,465 819,744
ol 2yl 8,800,844 7,979,135 821,709
D22 oIy 85,394 83,775 1,619
101 Q124H| 85,394 83,775 1,619
03 RINHA2EXS 4 85,394 83,775 1,619
@LAMZA 17,976
CPIEE 44,9002 12 %253 11,360
oa0iz 11,360,0002 1/ 1243l 3,787
os3gYsg 44,9002 ¥522 2,335
OURRIEINEY 44,9002 112 494
OE BN, 16,568
0Jl=3 41,3802 12 %253 10,470
oa0iz 10,470,0002 1/ 12+43] 3,490
osa8Y+Y 41,3802 12 x522) 2,152
OURRIEINLY 41,3802 ¥ 12112 456
@2U0HI(EZ) 1,500
OEEEIEE 10,000
@AUEE JIBRLD(ED) 39,350
CELIEET=E 258,868, 0002 *4. 5% 11,650
ORDIAYLPEHLLYD 258,868,008 *4.7% 12,167
ongrEzyya 258,868, 0002 2. 5% 6,472
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02 02 02
0y
&
-
pal
02
04
=1}

HE . O (BH) - NRAY - BYS Ak e 2t
Ofl &4 4
OMEMMHEHAZTRES 258,868,000& *3.5% 9,061
N2 222 (EB2) 1,775,644 1,737,578 38,066
101 el 1,775,644 1,737,578 38,066
2 1,775,644 1,737,578 38,066
OLT= 9,7963 x26H *30A| 2+x12& 91,691
OPNJ==SC; 9,603 *3H «30Al 2+ 123 10,372
OfI=1 8,3122 x 133 »30Al 2t+ 128 397,979
(OPNE=UN; 7,801 x26H «30 Al 2+ x 123 73,018
@7= 7,4573 x160H x30A| 2+ 12& 429,524
®©8= 6,682 x 150 *30A| 2t 12& 360,828
®9= 5,993& x57 B *30Al 2+x12& 122,977
@®Jls6= 8,312 «2H «30A| 2tx 123 5,985
®Jls7= 7,457 *x30H *30 Al 2+ x 123 80,536
®J|s8= 6,682 x78H x30Al 2+ x12& 187,631
®J1s9= 5,993 x7Hx30A| 2+ 12& 15,103
H=a(&5Z) 1,689,533 1,644,395 45,138
Za3 1,689,533 1,644,395 45,138
A0z 1,689,533 1,644,395 45,138
OF=Ini =gt =) 1,689,533
O4= 2,978,900& x4 x130% 15,491
053 2,581,400 x26 % *130% 87,252
o6z 2,210,900 * 150 * 130% 431,126
o7z 1,862,700 * 184 x130% 445,558
o8z 1,537,000 » 128 *130% 255,757
09z 1,289,900 392 * 130% 65,398
oJls6=a 2,210,9002 *2H x130% 5,749
oJlsra 1,862,700 *30 *130% 72,646
0Jls8= 1,537,000 78 *130% 155,852
0271s9,10= 1,289,900& +7 X «130% 11,739
OXl &2 2,721,100 *3H % 130% 10,613
O X & At 1,895,000 *26 9 x130% 64,051
O A=A 2,033, 100* 1 *130% 2,644
OBANHLEAI, BHAE
1,365,000%37% x130% 65,657
02 U HHIS(5X 5,250,273 4,513,387 736,886
304 H=RE== 4,776,568 4,163,923 612,645
01 H=SRE3 4,117,083 3,504,438 612,645
OZRAASRES 29,529,215,000%6. 7% 1,978,458
COESRAEXN-ERES
29,529,215,000& *4.3944% 1,297,632

_85_




oM
R’

oF
u)]

0 e —
< Lo
70 eI 5
- <t
al |y o] o
E o < S| |S
— o | o h
Lo
Tk s |=l= |g]|s 8= 2 S
[S) e ) 0| o > - > oS ol w|lo
ik 2 5|8 |E|F|F|® < e S1813
K= o ) % )
o
©
R o
™ 0 v
~ g ¢ 2 S8 8188
To) o o U B m S| e 8l8 8 8 8 & =
N © [ ™ - -~ S © o 9
z ™~ R ® D B2 ST T R N © 9 g SRR
5 644M%1m%%26,7, ,2,2,2mm0wwm000
= — | - 0 ® = N Y Yoo © © § O I I S 38 2 8
< n2u936,,,88 0040%0055
= QIR g - @ - o n 0 S S S 8 g g
© Qv N
0r d o ¥ RO 80
n | @ » & o 8 i TR
A S 8 S Rl ¥ * 2 NN o
s 8 S — K o x ~ e
: TR} @ e RS S IS I T _
ol N &~ [\ RO <o S 8 ™ O O ol ]
— P - K Mo = s 29 ® ol g2}
o+ 5D 3 ] RMS & < W w @ 50 8
= S % 0 = = 888 X o o &
< oY no k o] =SS 5 0
= | =) & 0 o =8 _ m o
N ~ = = Tw 2 RO ol Bl
=) o+ < o =) - & _ <) = = 30 — R o1 <F
~ HT_ 2 =& == — m) - — - D _.,_l
— o - 0 oo O <) Ok 2 T = Kk al nl 0B 30 w H
ol T A B K - <oy R <+ o= SR & =
uJ 8. = T ok [ ok . =< 0K < D
S o BN i = ¥s5s Fa W R R R KR OB _ M LN 80
O A o |m(3EE, 8T oo _ I 4o _mor
A . A0 [ Mo |ro Ok W RE W™ Do 80 |35 |5 moT RO oW < & R KO < £
. | b TR o H T = J o0 R == O o Of < _
< S S| o | Kk PUINO; o* 3 |0F o O oo < A0 IF o od oY 30 Od
I+ Qe T o | = ® A ES O F ol ® &0 R0 o
o8 |° N < o =z @® O O O @ O n 0 X
M| & < S W=z ® O O M It
= X m o H @
i3 ~
(@)

- 86 -



S KX D
HH: $ESARL(NABI D)
>
[=}

el Ié u (etel: =3
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
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@3S |=s 2 200,000
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B DHZNO AT
el DUAS DIANHIA RB (a2
SN C(BH) - NRAY - HES 0l &k o Soe HlmE2
= 2,000
202 (4 H| 2,000 2,000 0
2 2,000
01 =LHOA b 2,000 2,000 0
@HEL=s = 2,000
= 2,000
=E9 g ¥ BH 2t 12,100 18,500 26,400
hgee eI HEXIA 12,100 18,500 A6,400
YRI5t =& 12,100 18,500 A6,400
201 Let23d| 2,000 1,500 500
01 AtE22|Hl 2,000 1,500 500
@HLHLGII =2 =2 S 2,000
202 O4H| 9,600 12,000 A2,400
01 =LA b 9,600 12,000 A 2,400
@5 =& 9,600
405 KH&HFE S| 500 5,000 A 4,500
01 XL SSFSHI 500 5,000 A4,500
@CXE Itoliet(1th) 500
5820 =X9 0/8 ¥ A 57,992 98,594 A40,602
| 28,592
= 29,400
sA&EE oA HEXH 57,992 98,594 A40,602
| 28,592
i 29,400
=708 22lXa(22) 28,592 26,194 2,398
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= 3,200
= 960
= 2,240
401 A &HIL 204 6,400 5,900 500
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405 KHAHE S 2,300 2,954 AB54
01 MHARSEFSH 2,300 2,954 AB54
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= 7.373
0 2Z X 01t 545
= 327
= 65

- 181 -




oF
R’

ok
ol

K0
o
5 g
<
~ ol
0~
il 60

e

n0

KIo

Bl w

H3r
uiled!
pak=

=
o

s

<J

153
623
374

75

rH

L

174
200

rH

121

fir

25

54
13,848
13,163
7,898

U

fir

iy

1,580
3,685

rH

273

164

mr

33
76
312

U

187

i

37
88

W

100

60

11

29
13,847
13,163
7,898

i

mr

Iy

1,580
3,685

rH

272

163

fir

33
76

U

312

187

m

37
88

U

100

12
28

60
27,694
26,326
15,796

3,159
7,371

MW

fir

iy

rH

545

327

m

=Hl

E]

oOZ2=2 X0 bl

=Hl

E

ClUIOIE (1)

O=22 X0 |

=H|

E]

OZ2=2 X0 bl

- 182 -



SN

A
Hal: A
=7

=Tt UIPHAIL &5 (el @R
_ _ MNuE o
SA - SR(E) - HRAY - BES 01l &4 24 i HIRE
S 65
= 153
Ot &l 623
= 374
& 75
= 174
Ouw=H| 200
= 19
= 24
= 57
SRAAIE 2 S 3| 7,200 7,200 0
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= 50,000
= 350,000
= 120,000
s 814,380
SIAM € LR2EXY 352,500 504,000 A 151,500
401 A &HIL 204 352,500 504,000 A 151,500
01 Al£Hl 350,000 500,000 A 150,000
@Rzs F&E =4 50,000& #3,0002 150,000
©R33 ATHA At= 22| 150,000

- 183 -




SA A
Xy 7M. Ab2I
o T —

IS BE
& LZSHIIEAl =4 EEEEE]
_ _ PSJEN==
A -3 -H2A(SH) - HEAMY - BES Of] AF R lOﬁ/l\_Fo” Hos
@OLIH =4 L 22 50,000
03 Al 20HY| 2,500 4,000 A 1,500
@ORIsA & 227 24 2,500
S2SUIIEAl =LA 181,880 191,880 A 10,000
201 LBt 3| 59,000 59,000 0
01 AtR2teld] 54,000 54,000 0
@ORIJHIHEA EE 50,000
@RISUHIHEA FIAKLS 3o
100,000 *10H »43| 4,000
03 A2 5,000 5,000 0
@223 WF(ME) A 2,500,000& 22| 5,000
202 O] 2,880 2,880 0
01 =LA b 2,880 2,880 0
@©R2SHIHTAl ZHAIY F=X 2,880
401 AIEHIZ 2 120,000 100,000 20,000
01 Al&HI 117,288 100,000 17,288
@R =3 HI0HA st&A ME(1S) 117,288
02 Zeldl 2,712 0 2,712
@223 HOMIZA EA AF(1S) 2,712
FIHO==S 100,000 1,070,000 A970,000
= 50,000
& 15,000
= 35,000
401 AIEHIZ 2 100,000 1,070,000 A970,000
= 50,000
= 15,000
= 35,000
01 Al&H| 100,000 1,064,000 A964,000
@RIsset =24 100,000
= 50,000
& 15,000
= 35,000
f2st==4 =4 700,000 0 700,000
= 350,000
& 105,000
= 245,000
401 AlZHIZL =208 700,000 0 700,000
& 350,000
& 105,000
= 245,000
01 Al&HI 695,000 0 695,000
@R3s+=28 =4 695,000
= 347,500

- 184 -




oF
R’

ok
o]

e

n0

KIo

Bl w

5,000

A 900

A900

2900

LH3r
m<l
Rk

27,430

27,430

4,200

4,200
4,200

23,230

17,450
12,480

4,970

4,880
4,880

=
o

s

<J

Iy

104,250
243,250

rH

5,000
5,000
2,500

70

750
1,750
26,530

H

26,530

4,200

4,200
4,200
4,200
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4,880
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A IR
g NS3Hgds

Sl RHARAE L X (Sl #)
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
JI X2 Dt 5,219,909 5,780,434 A560,525
2 481,800
| 33,383
= 161,112
2 4,543,614
NEENEYLE! 767,939 276,005 491,934
2 260,300
| 33,383
= 51,242
2 423,014
NHARAE 2 X2 235,339 198,005 37,334
2 9,000
| 33,383
= 51,242
2 141,714
SotorE 22| 14,272 13,772 500
201 L2y 6,240 5,740 500
01 ALR eIt 6,240 5,740 500
OUYSIIZ AL B2 L OGS MH 1,200
euYSIIEL ANE +Y
70,0002 #1224 *63] 5,040
301 YB3 8,032 8,032 0
10 BAIAHIEA S 752 752 0
@SISLIEIRY BAESMY 2
188, 00021 *4% 752
12 JIEt2 42 7,280 7,280 0
@SIHSUE SR OUIB4 35,0002 42 «523] 7,280
YRR AR 3,000 4,000 A1,000
203 R =Y 3,000 4,000 A1,000
03 A= ARETY] 3,000 4,000 A1,000
@IYNY AHAREZ 3,000
oMb FIIA&IH 1,600 11,600 0
= 3,500
2 8,100
402 RIZHXHEOIH 1,600 1,600 0
= 3,500
2 8,100
02 ©I2FCHE ARl 1,600 1,600 0
OHASS LSHIIAE K24 11,600
= 3,500
2 8,100
SHEHIIBSANY 89,834 40,000 49,834
= 44,917
2 44,917
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IS XE

HEPNJR-REDA(R=g~Te1

D THARAE U KR SRCED
SN HH G (EH) - MBAY - BYS Ak e 2
Ofl &4 4

402 It XHE01H 89,834 40,000 49,834
L= 44,917
= 44,917

02 SIZtCHE AFHI 89,834 40,000 49,834
@OsHEMIISSAY 89,834
& 44,917
= 44,917

HEANE FMEE Ot 1,650 1,650 0
= 825
= 825

402 LIt XHE01H 1,650 1,650 0
L= 825
i 825

01 S GEEX 1,650 1,650 0
ONHEANE FHEE It 1,650
& 825
= 825

LPIOtA JH& AL 6,600 6,600 0
& 2,000
= 4,600

402 QI XHE01H 6,600 6,600 0
= 2,000
= 4,600

02 SIZ2+CHEH At I 6,600 6,600 0
OHASS LPIHA HEAY 6,600
& 2,000
= 4,600

YA FHIS XE A 33,383 33,383 0
| 33,383

401 A EHI L2048 33,383 33,383 0
J| 33,383

01 Al&H| 33,383 33,383 0
@LEHELAFHI S XA 33,383
Il 33,383

HEANE Al B 50,000 15,000 35,000

401 A &HIZL 2048 50,000 15,000 35,000

01 Al&H| 50,000 15,000 35,000
OESAE Al B 50,000
OJtAHHZ 24=(300m) 30,000
o4 & SZTAE B=(1 20,000

HSAE HAANENSE (=) 15,000 0 15,000
= 9,000
= 6,000

401 AIEHIZ 2 15,000 0 15,000
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SN I D
=L R
Sl NABMAN L X2

_ _ _ Muo
SA-BH.C(BH) - HRAY - B O AF o8 il i~ o Hnz2
= 9,000
2 6,000
01 Al&H] 15,000 0 15,000
@EHAIZ AL A (14]) 15,000
= 9,000
2 6,000
SRIALE 22| 10,000 10,000 0
202 04t 10,000 10,000 0
01 =2Uloibl 0,000 10,000 0
ONSZN 245 =X 10,000
WX He22 532,600 78,000 454,600
= 251,300
2 281,300
B2 Ee 23AY N (2HEEN) 30,000 30,000 0
402 BIAR 20| 30,000 30,000 0
01 PIIXI=EE 30,000 30,000 0
CEHY BT B2AY X2
2,000,00021*157+ 72 30,000
MTHSHUX XSEZ A 502,600 0 502,600
= 251,300
= 251,300
401 Al&HIL 20| 502,600 0 502,600
= 251,300
2 251,300
01 Al& ] 502,600 0 502,600
O HA BHYZLHLY &X 502,600
= 251,300
2 251,300
HAE 40T 1,614,470 1,437,300 177,170
=401 84 2 X8 1,614,470 1,437,300 177,170
22NN AL 8,500 8,000 500
301 LB A 500 500 0
10 BAAHI 2 A S 500 500 0
@RHIZX, XHE L ABX DS
50,0002 102 500
307 QI2H0|H 8,000 7,500 500
ICIETEINES 5,000 4,500 500
CLEEEES SRS 5,000
04 BIZISAIE 3,000 3,000 0
@22 S0IS A A 3,000
SAHE ORI N 9,000 10,500 A1,500
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IS XE
D UAE SAJISEXE

Mo S=

CEaJY 58 # XNE

N EE - SI(3) - HEAY - BES sk Soe B RS2
402 It XHE01H 9,000 10,500 A 1,500
01 BIPHEEX 9,000 10,500 21,500
@OSAJISGHE CIXe g XA 9,000
sJE=sd Jl=s 173,000 202,000 229,000
308 XX HHSOIA 173,000 202,000 229,000
05 XXMt ES 173,000 202,000 A29,000
@AY 84 Jl= 173,000
SIS KE 12,000 21,600 A 9,600
307 212t01& 12,000 21,600 29,600
02 BlHANEX 12,000 21,600 9,600
@sA0g nEEXZ K& 12,000
M0l B2 5,250 4,200 1,050
201 Let2d| 5,250 4,200 1,050
01 AtE22(Hl 5,250 4,200 1,050
@IS =XRAs2H+E 70,0003 15 +53] 5,250
AEXNSZAML (AR SHMILOIMEX) ,000,000 0 1,000,000
402 SI2tXHE01H ,000,000 0 1,000,000
01 B2 EX ,000,000 0 1,000,000
@JIgoId EX= ,000,000
Sa0|1F JIBAIE K& 300,000 0 300,000
401 Al&HIZL=ROHYI 300,000 0 300,000
01 Al&H| 300,000 0 300,000
@O0IMIIY & EHAIY JIEAIE XA 300,000
SIS E REA 100,000 0 100,000
306 8= 100,000 0 100,000
01 £¢3 100,000 0 100,000
@@=k AFE JIZXNA &H3 100,000
SHAANY 2FEHI 6,720 5,000 1,720
202 O4Hl 6,720 5,000 1,720
01 =Yl 6,720 5,000 1,720
@S2I NAYR A 6,720
a2 1= 330,000 366,000 236,000
SEX 2el XA 330,000 366,000 236,000
s38XN29 X 30,000 9,000 21,000
201 et 10,000 9,000 1,000
02 =234l 10,000 9,000 1,000
@©=s3HX 22l 2N 10,000
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SN ISR D
HE: MAE PE

ol =2 22X ECR-ED
S BB SR (B) - NEAY - BAS 0f & o Soe DB

401 AIEHIZ 208 20,000 0 20,000

01 A&l 20,000 0 20,000
©a2ot=s3 5 X CCTVE X 20,000

S =sSHXEX LY 300,000 357,000 A57,000

401 AIEHIZ 20U 300,000 357,000 257,000

01 A& 300,000 357,000 A57,000
@SS EHA HUYEX O 300,000

JEENFA A2t 41,000 34,000 7,000

IEENRRES 41,000 34,000 7,000

JIH=I&s 27,000 34,000 A7,000

201 Bt 15,000 34,000 219,000

01 AtR22itl 15,000 34,000 A 19,000
@IERIES 2= NH 15,000

203 ¥ =&l 2,000 0 2,000

03 AlEXYR=AY| 2,000 0 2,000
@IIgRA s = 2,000

301 Let2a= 5,000 0 5,000

12 JIet24a =S 5,000 0 5,000
@IGK[A 3K Stz (2Hl) 5,000

303 Zal= 5,000 0 5,000

01 Z&3 5,000 0 5,000
@IIYERIA RS U3 (B2H) 5,000

cHRIANEE2E B 14,000 0 14,000

202 OdH 14,000 0 14,000

01 2Uhoit] 14,000 0 14,000
@JIgRXEsu 14,000

Aajatgy =8 & X3 1,110,995 2,302,738 A1,191,743

2Dt S SEHME S 9,000 1,033,400 A 1,024,400

SHRAIYE 2Z 3 9,000 24,400 A 15,400

202 OdH 9,000 19,400 210,400

01 =LHOYI 9,000 19,400 210,400
@OXAAY =& 9,000

4HE - ALMH=H 1,101,995 1,269,338 A167,343

SXMNCZAEA L SEAL 846,400 870,000 A23,600

306 == 846,400 870,000 A 23,600

01 E93 846,400 870,000 A23,600
@=dHtZE dEd A 54 846,400
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SN ISR D
=L HS P

ol MY - AYLRASH ECR-ED
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
SEMY - H2Zust2 29 218,595 266,438 NA4T,843

101 o1 21H| 35,595 35,338 257

04 JIZHMIZ2 =z AsE 35,595 35,338 257
OF=PNF=g1 12,243
oJIEsa 37,7903 1 253 9,561
OR3IzdY 37,7903 x 1 52 1,966
OdXteas/IH==E 37,70 * 1Y x 11 416
onl =l 150,000 * 1 x23] 300
@OHREX 23,352
oJI=23 36,0003 »2H *253 18,216
ORIz dY 36,000& x2H x52 3,744
O¢XRIFII< 36,000 x2H « 11 792
o nl=H| 150,000 22 x23] 600

201 dEt2a | 167,000 167,100 A 100

01 AtS22telyl 20,000 20,000 0
@itstat 29 AI22t2l ] 20,000

02 S=2494| 97,000 97,100 A 100
@2 29 S329Y| 97,000

03 SAISHHI 50,000 50,000 0
@OMPAHZ WEt2 JIEHJMAIHE HA2F 50,000

206 THZH 1,000 1,000 0

01 THZHl 1,000 1,000 0
@MHPA2Z WSkt TS 1,000
O0tM3H MAl 23 ¢ 20,000& *50H4 1,000

401 AEHIZ 2] 15,000 60,000 45,000

01 Al&HI 15,000 60,000 A 45,000
@MY - H2usta tie+=2 &X 15,000

MY - 2HY dARHEH 29 37,000 35,000 2,000

201 Yereg| 27,000 35,000 8,000

01 AtR22telyl 7,000 5,000 2,000
@2 7,000

02 S=2494| 20,000 30,000 A 10,000
O3 20,000

401 AEHIZ 2] 10,000 0 10,000

01 Al&H| 10,000 0 10,000
OMY - ALAHAAMEH XS &= 10,000

OIEFOl NREE =0 1,327,540 1,138,226 189,314
= 221,500
== 109,870
iy 996, 170
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SN
X XH .
S Tt

el

ey
0 0x 02
B[ D
A 1o {0
4o I:J\‘-:;|
o 0
]
1)

ro
(i
>
o 0y
M
€
_>||_|
0

SNBSS - MEAY - BES 04l &k 24

=

i

J2H
Es
S
Ol
0y

LNEFM & HFXE 1,327,540 1,138,226 189,314

J

W

221,500
109,870
996, 170

0H

W
ry
HU
=
1)

Mok

300,000

22,620
277,380

371,000

AT71,000

101 @1 AH

Mk

300,000

22,620
277,380

371,000

A71,000

Ml 1

300,000

300,000

22,620
277,380

371,000

A71,000

H

443,000
221,500

66,450
155,050

443,000

101 Q1A

MM

265,800
132,900
39,870
93,030

265,800

04 JI2HA

H M

265,800

265,800
132,900
39,870
93,030

265,800

201 2Bt

W

161,200
80,600
24,180
56,420

161,200

01 AtR 22l

OXNASSH LAcIA

02

d
2 Ho

0y 02
O
i

=2

® 0d
>~

LRl A

W

W

157,200
157,200

78,600
23,580
55,020

4,000
4,000

2,000
600
1,400

157,200

4,000

202 O

W

16,000
8,000
2,400
5,600

16,000

01 =LHOYI

ONSSSH &

16,000
16,000

16,000
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Ko ofl

i =
M=o

o ol
— [ ok
oM ol R
= RMHr
3D &0 00
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n0

KIo

Bl w

510,000

500,000
500,000

10,000
10,000

15,980

7,980
7,980

8,000
8,000

40,800

40,800

40,800

14,000

14,000

14,000

360
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360

LH3r
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Rk

3,400

3,400
3,400
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<J

fir

8,000
2,400
5,600
510,000

iy

rH

500,000

500,000

500,000

10,000
10,000
10,000

15,980

7,980
7,980
7,980
7,000
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8,000
8,000
8,000

40,800

6,800
34,000
40,800

6,800
34,000
40,800
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1,800

LH3r
m<l
Rk

26,165
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SN

el

al
X XH: AH
o T (==}
ral

_ _ PG ==
SN FHH - CA(SA) - NRAY - BES Ak oH 0 At of HmE2
YT 32,559,059 32,563,049 A3,990
=2 4,488,047
2 5,404,000
£ 20,000
= 899,542
z 21,747,470
MED|BHAl L 58S 12,400 23,000 10,600
AEHHFT 12,400 23,000 10,600
ALY U TR 22 12,400 0 12,400
201 LEreg| 5,000 0 5,000
01 At2Z2lb| 5,000 0 5,000
@IS TAr2te 5,000
202 01| 5,400 0 5,400
01 =ZUHoiHI 5,400 0 5,400
@ALHY g = 5,400
203 Y2 EXH| 2,000 0 2,000
03 ANMERADE 2,000 0 2,000
@ALANH g2 = 2,000
C2Y &5 12,770,350 8,770,349 4,000,001
2 1,000,000
2 414,000
== 300,000
z 11,056,350
2= FY| 6,186,000 3,286,000 2,900,000
= 300,000
z 5,886,000
FESA-ZIE (2 E65 M) BA 1,200,000 1,300,000 £100,000
401 Al&HIZ 2] 1,200,000 1,300,000 £100,000
01 Al&H 1,195,680 1,295,320 99,640
@©FSIX~ZIIH (263 EE
& 1,195,680
03 AlZ= il 4,320 4,680 360
@FSA~EIE (2565 3 =
& 4,320
ZEUSH (YN & 1,386,000 1,386,000 0
401 Al&HIL 2] 1,386,000 1,386,000 0
01 Al&t] 1,386,000 1,386,000 0
@TZUSH(SYEe 1,386,000
ZEREMH (YR 1,600,000 0 1,600,000
401 Al&HIL 2] 1,600,000 0 1,600,000
01 Al&H 1,594,240 0 1,594,240
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A AL YT

B c2o a3
ool REHy L
SN HB SR (BIH) - A - B S 0l &b S D=2
BN B O - HSAY - B2 Sh Of] &F o8 e
@2 RsH(UH-2E2) T25E L ZF 1,594,240
03 AIZ=20bl 5,760 0 5,760
@ZERSH(UE-22) T2 2 XF 5,760
DCUSH(RE-ELY) TRAR U T 2,000,000 0 2,000,000
= 300,000
i 1,700,000
401 AIEHIZ 2 2,000,000 0 2,000,000
= 300,000
= 1,700,000
01 Al&HI 1,992,800 0 1,992,800
@2 4sH(Ee-gdg) C2Ey ¥ I 1,992,800
& 298,920
= 1,693,880
03 Al&Z=R0HHl 7,200 0 7,200
ORETUSH(HE-LLY) TR U TF 7,200
= 1,080
= 6,120
DEASHH 2,828,000 1,212,000 1,616,000
= 1,000,000
= 414,000
= 1,414,000
A2 AT 274,000 332,000 258,000
& 137,000
= 137,000
401 AM&HIYL 2048 274,000 332,000 258,000
= 137,000
= 137,000
01 Al&H| 274,000 332,000 A58,000
@ABCZ PEMA 274,000
= 137,000
i 137,000
WAL 22 e 20,000 356,000 A336,000
= 10,000
= 10,000
401 A &HIYL 2048 20,000 356,000 A336,000
= 10,000
= 10,000
01 Al&H| 20,000 356,000 A 336,000
@usSAD Z2xR - 20,000
= 10,000
= 10,000
VRN 534,000 524,000 10,000
= 267,000
= 267,000
401 AlEHIZ 2 Y] 534,000 524,000 10,000
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A A2
M T2o 2s
Chel: DEASCH crol @ @
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- co=m s IR ° . (= (=3 =5 0:”/|l|,% Lsa
& 267,000
i 267,000
01 Al&H| 534,000 524,000 10,000
@HE0ESsxY e 534,000
& 267,000
= 267,000
orMeh EdEd &4 ,000,000 0 2,000,000
= 1,000,000
= 1,000,000
401 AIEHIZ 2 ,000,000 0 2,000,000
= ,000,000
i ,000,000
01 Al&H| ,000,000 0 2,000,000
@otAMst Sastd XA (L=4km) ,000,000
= ,000,000
i ,000,000
HEE 23| ,445,950 3,050,000 A604,050
FE~2H2F T2OHE S At 950,000 0 950,000
401 AlEHIZ 2 950,000 0 950,000
01 Al&H| 944,015 0 944,015
@OEH-2Z2t T2IHESAL 944,015
03 Al R0 5,985 0 5,985
OHE-SZ2t T2IHESA 5,985
g0 224 (dH21658) &2 ,495,950 0 1,495,950
401 A &HIL 2048 ,495,950 0 1,495,950
01 Al&H| ,490,550 0 1,490,550
@dH Z22Hd(dH2165 4 £
& ,490,550
03 Al 2 0HY| 5,400 0 5,400
@0 22UMH (221654 2 =
& 5,400
ZR A2 ,310,400 1,222,349 88,051
E2 IMN2IAY 100,000 100,000 0
401 AIEHIZ 2] 100,000 100,000 0
01 Al&H| 100,000 100,000 0
OEE TM2IAS 100,000
T2 HEAILE XA 100,000 100,000 0
401 A &HIL 2048 100,000 100,000 0
01 Al&HI 100,000 100,000 0
OEZ HEAIEZE EXIAY 100,000
T2 T MALS 200,000 200,000 0
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_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Arol e HRE2
401 Al&HI LS04I 200,000 200,000 0
01 Al&H| 200,000 200,000 0
OEZ HEETAMAL 200,000
==X 24 300,000 300,000 0
401 Al&HIZL=SOHYI 300,000 300,000 0
01 Al&H| 300,000 300,000 0
@o=EX 24 300,000
HEot) HME T2 156,400 70,349 86,051
101 Q14| 3,000 2,349 651
04 JIZHMIZ2XEE =+ 3,000 2,349 651
@usE M 3,000
201 Let2d| 14,000 14,000 0
01 AtE22(Hl 5,000 5,000 0
@2zt gt 5,000
02 =234l 9,000 9,000 0
@gasn 2el 22 9,000
405 AHeHESHI 139,400 0 139,400
01 ML ESHSHI 139,400 0 139,400
@EdHE MN&D 4,100,000+34CH 139,400
L2 A8 RAEFZA 450,000 450,000 0
401 Al&HI LS04I 450,000 450,000 0
01 Al&H| 450,000 450,000 0
@OLZ, AEUE FAEFSA 450,000
HEolEs 29U CCTV 22 4,000 2,000 2,000
201 LetIH| 4,000 2,000 2,000
02 ZE=23Hl 4,000 2,000 2,000
@027 CCTV =Xl 4,000
OtMEH Aot T4 5,895,082 9,507,074 A3,611,992
= 2,940,081
L= 136,000
= 2,819,001
ot& 2t 5,895,082 9,507,074 23,611,992
= 2,940,081
= 136,000
= 2,819,001
EnyelFalPSha] 2,780,162 4,372,554 A 1,592,392
= 1,340,081
= 1,440,081
401 Al&HI YL S04 2,780,162 4,372,554 A 1,592,392
= 1,340,081
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SN
X XH .
S Tt

el

248 TH
OIF B HBGHH T A
stazel

_ _ _ Muo
SA - SR(E) - HRAY - BES 01l &4 24 i HIRE
= 1,440,081
01 A& 2,770,514 4,361,018 A 1,590,504
@AGHEHBYEX IHY 100,000
OPSRRF] 2,670,514
= 1,335,257
= 1,335,257
03 Al& SO 9,648 11,536 ~1,888
OPSEFl 9,648
= 4,824
= 4,824
oA SN 1,670,000 3,000,000 1,330,000
= 1,000,000
= 136,000
= 534,000
401 Al HIL2OHY] 1,670,000 3,000,000 A 1,330,000
= 1,000,000
= 136,000
= 534,000
01 A& 1,663,988 2,989,200 A 1,325,212
@SN 1,663,988
= 996,400
3 135,510
= 532,078
03 Al& SO 6,012 10,800 14,788
@SN 6,012
= 3,600
= 490
z 1,922
GIESESIE] 414,920 114,520 300,400
201 Lere gl 4,000 3,600 400
02 22| 4,000 3,600 400
O©ZZR2 L MMISB2 4,000
202 01H 10,920 10,920 0
01 204 10,920 10,920 0
@SHEFHIYR FA 10,920
401 Al HIL 2RI 400,000 100,000 300,000
01 A& 400,000 100,000 300,000
OStEES 2 NHS M 100,000
OXIYGHE L AGHEFHI(XHA) 300,000
14 M F 30,000 20,000 10,000
401 AlSHIL 2RI 30,000 20,000 10,000
01 A& 30,000 20,000 10,000
@JISH = 30,000

- 199 -




S ALY
HE: OME ZAGHEIH

el ot zel (98
= PSR (2 SAIY - HA2 oH S =
SHZMEHotE ZEAME 1,000,000 2,000,000 1,000,000

= 600,000
s 400,000
401 AlIEHIZ 208 1,000,000 2,000,000 21,000,000
= 600,000
= 400,000
01 A&l 994,780 1,993,280 998,500
@©sdZ dHotd ZEAE 994,780
= 596,220
o 398,560
03 AE=20HYI 5,220 6,720 1,500
@0sdY dHfotd 2HAS 5,220
= 3,780
= 1,440
sg3dy Hat 8,971,760 7,777,645 1,194,115
& 4,990,000
= 20,000
= 140,000
o 3,821,760
sgEs g 405,000 196,000 209,000
= 107,000
= 298,000
SESdEET L 379,000 170,000 209,000
= 107,000
s 272,000
401 NEHIL20H] 379,000 170,000 209,000
& 107,000
= 272,000
01 A&l 377,630 168,691 208,939
OsEsgdEssIie 177,630
& 106, 170
o 71,460
ONE 22X 7 sEYEE> Hi-22 Y
S A 200,000
03 A&=0HYI 1,370 1,309 61
OsEsHUESTINY 1,370
& 830
= 540
StolfCH2Y 2 2+=&H| | 26,000 26,000 0
401 AIEHIZ 20U 26,000 26,000 0
01 Al&Hl 26,000 26,000 0
@St (2 - S+=&H =2l 26,000
sgolerEl 8,566,760 7,581,645 985,115
= 4,883,000
& 20,000
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A -3 -H2A(SH) - HEAMY - BES Of] AF R bﬂ/‘\_“’” Hos
= 140,000
i 3,523,760
JIHSBNZEH I () 460,000 508,000 48,000
= 182,000
= 278,000
401 AlZHIZL 208 130,000 104,000 26,000
& 91,000
= 39,000
01 Al&H| 129,220 103,376 25,844
@I HSZBHZ LY 129,220
= 90,454
= 38,766
03 A&=20dl 780 624 156
@I HEtEAZ 8u 780
& 546
i 234
402 212t AH=01 A 330,000 404,000 AT74,000
z 91,000
= 239,000
02 QI2FCHEH AL 330,000 404,000 AT4,000
@I HEtE&z Sn 130,000
2 91,000
= 39,000
@I HSEEZ SZE(XHA) 200,000
JHS BN =S T 573,760 573,760 0
401 A &HIZL 2048 573,760 573,760 0
01 Al&H| 569,629 569,629 0
@I A B EZ S E(XHA) 569,629
03 AIE=20Hyl 4,131 4,131 0
@I HSZBEZ E LT (XHA) 4,131
SHIIBHAIE JHE = 370,000 300,000 70,000
401 AIEHIZ 2 370,000 300,000 70,000
01 Al&t| 370,000 300,000 70,000
@sIBAIE e 4 300,000
@sH 822 28X =23 70,000
2l H=elAE |22 40,000 40,000 0
= 20,000
= 20,000
402 Q12tXHE01 A 40,000 40,000 0
Z2 20,000
i 20,000
01 SIAGEEX 40,000 40,000 0
@=clH=elAE sX2e 40,000
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20,000
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S
T
0A
=
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2,020,000
140,000
328,000

M H oY

401 AIEHIZ 20U 2,488,000 2,455,885 32,115
2,020,000
140,000
328,000

M HY OR

01 Al£HI 2,479,044 2,445,692 33,352
@ZDIgtEH (0t:elXI+) 2,479,044
2,012,746

139,552
326,746

03 AI&Z20HYI 8,956 10,193 N1,237
@ZDIetE I (0tRelXI+) 8,956
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1,254

M HY OR

M HY OR

O

[

0z
e
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oY
0x
o

3,300,000 0 3,300,000

2,310,000
990,000

H 0§
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2,310,000
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H 0R
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COsSEME ST EHIAY 3,291,090
2,303,763
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| 8,910 0 8,910
SEUESSITHIAY 8,910
6,237
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H oR

H 0R

0= xd 530,000 450,000 80,000
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M oR
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159,000

H o

01 Al£Hl 530,000 450,000 80,000
@OHANIS LM (22XF) 530,000

371,000
159,000

H o

O

HEF=ZIHE 800,000 0 800,000

401 Al&HI LSO 500,000 0 500,000
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X XH .
S Tt

el

2t 2T ot
oS0 XIS Atel HE
SENG DS

AR

SN C(BH) - NRAY - HES Aro L=t HlmE2
Ol &k
401 A &HIL 2048 29,811 320,412 A 290,601
01 Al&H| 29,811 318,000 A 288,189
@EXZ 20t=222|(JtE~E8sZ2) i )
= 29,811
g L LdAHAEX 263,000 797,461 A534,461
401 A &HIYL 2048 263,000 797,461 Ab534,461
01 Al&H| 262,054 793,726 A531,672
@OSdE ZBdE81el SEY ANENS 79,712
@3EH ¥E12| URH A2ungdX 27,900
@OSFEH FH22 225 2N ¥ s2EFE 24,910
ONE 2232 ¥s AWEAEX 24,910
@©=Sg89H JLe SHAEX 49,820
OLH HFE22 == 2AHEX 24,910
@OUH 21l Ad= HEX 29,892
03 Al 20HY| 946 3,735 A2,789
@OuEAANLX 2UbI 946
o3& A= 1,050,000 729,760 320,240
401 AIEHIZ 2 1,050,000 729,760 320,240
01 Al&H| 1,008,210 714,090 294,120
@©s9H ASHHel 0t23 2 240,050
@OUEH T212| DSl 96,020
OMH 232 02z & 288,060
@OUH ZoHel Ot=3l2 & 192,040
@gH SXel otssa & 192,040
02 Zeldl 38,010 12,430 25,580
@032 &5 22l 38,010
03 Al 20HY| 3,780 3,240 540
@its32 A= 20 3,780
TZOIOHIE =3 #ZF | 40,000 13,000 27,000
& 12,000
= 28,000
401 AIEHIZ 2 40,000 13,000 27,000
= 12,000
= 28,000
01 Al&H| 40,000 13,000 27,000
O3 el SHO0HIE AY=2 Itz Xl 6,000
= 1,800
= 4,200
@Y™ X112l HAOIIIE =Xt 34,000
& 10,200
= 23,800
272 Oissd &Yl 400,000 260,000 140,000

- 204 -




SN

X ZH
o=

ral

T

D OLSUR XIGAS N

ool sEXNATENY (Etel: &8
- _ — HdE T
SA B RI(BH) - HRAY - BAS 0f - o i bl m =2
< 200,000
= 200,000
401 AlEHIL 2RI 400,000 260,000 140,000
= 200,000
= 200,000
01 A& 400,000 258,560 141,440
OUEY 22| S2BE 200,000
= 100,000
= 100,000
OUs siNel AYz BE 100,000
= 50,000
= 50,000
OUE It s2EE 100,000
= 50,000
T 50,000
= YNBE FUAY 50,000 28,000 22,000
= 15,000
= 35,000
401 AlEHIL 2O 50,000 28,000 22,000
= 15,000
= 35,000
01 A& 50,000 28,000 22,000
OUH R2J(ZEMEH) A3 FY| 30,000
= 9,000
= 21,000
@A Sotel(SXE86SH) QXA B 20,000
3 6,000
= 14,000
ol 22| 20Ist A 30,000 0 30,000
401 Al HI L2 OHY] 30,000 0 30,000
01 A& 30,000 0 30,000
@z 22l 2olst A 30,000
SO EMEEZE I 300,000 0 300,000
401 AlEHIL2OHY] 300,000 0 300,000
01 A& 300,000 0 300,000
OSOHEMSHE FHAY 300,000
WLHR BRI MH 2= 1,043,814 249,379 994,435
= 547,966
= 96,542
, = 599,306
T Ho 2 242 246,082 144,787 101,295
= 5,586
= 20,000
= 220,496
THEHOHR ARD Ol ALY 113,910 61,325 52,585
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- co=m s IR ° . (= (=3 =5 0:”/‘l|_% (=]
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i 98,910
101 144l 110,010 50, 185
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= 95,010
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201 Let23d| 1,500 0
01 AtE22/Hl 1,500 0
@ord e 222 1,500
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01 =LA b 2,400 2,400
@M=y =& 2,400
Ss0| etEAld &X 26,172 11,630
= 5,586
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201 LBt H| 26,172 11,630
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01 AFR 22| 26,172 11,630
@20l etMAIA 11,172
= 5,586
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@& =9 & otfE FH 15,000
Meogs fAs AdFRAX 38,000 28,000
= 5,000
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402 U2t XH=01A 25,000 25,000
01 SIAGEEX 25,000 25,000
@23 elE AT
0,000+ 1CH 25,000
405 XHaHFESHI 13,000 3,000
= 5,000
= 8,000
01 XL 2SS FHSHI 13,000 3,000
@& 2 10,000
& 5,000
= 5,000
@FEZH P (XA 3,000
Mts& BI2tel B4t 5,000 0
301 LEEAZ 5,000 0
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SH AL
HE: JUORBSIHH 7

Sl THoHolY ¥ =RX (el &2
_ _ MNuE o
SN EB -GS - MBAY - BES 01l &k o e HRE2
CREREE ERTEEE] 3,000
302 OIFUTHEH &3 5,000 5,000 0
02 QI2HOITHEN 2 A3 5,000 5,000 0
ONARSYTE W22 5,000
ALENT Ty 10,000 10,000 0
201 L2 10,000 10,000 0
01 ALRelt] 10,000 10,000 0
OHAENT 10,000
IHITH LKA Hb 6,000 5,000 1,000
201 L2y 6,000 5,000 1,000
01 ALR eIt 6,000 5,000 1,000
@AYTH 22X FH| 6,000
ST 7Y 20,000 20,000 0
206 W& 20,000 20,000 0
01 T2l 20,000 20,000 0
@YU 7Y 20,000
TH o AR CH bl 4,000 4,000 0
201 Y2 4,000 4,000 0
01 AR eIl 4,000 4,000 0
@CISE AEDHHI 2,000
@HSE AF O 2,000
SRIALY 2| 4,320 3,120 1,200
202 Ot 4,320 3,120 1,200
01 2Uhoitl 4,320 3,120 1,200
@MehoY =X 4,320
W EEPEET 900,000 0 900,000
2 540,000
= 72,000
2 283,000
401 AIZHIL 2O 900,000 0 900,000
2 540,000
= 72,000
2 283,000
01 Al 900,000 0 900,000
OZEXT 400,000
2 240,000
= 32,000
2 128,000
@R UBH(2)NT 500,000
2 300,000
= 40,000
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Z: oM HH 2
Sl oY % SR ¢ &
- _ _ ME
SN -3 S2ARAH) - MFAY - BES &toH Ol & o8 s
[ ]] = 160,000
YL (ALL W) 312,313 310,158 2,155
ol 2 266,813 261,878 4,935
sl 266,813 261,878 4,935
101 Q121H] 266,813 261,878 4,935
03 RIHAZZ2XE 266,813 261,878 4,935
©@+22 Ay 266,813
0123 44,900% * 10 *253Y 113,597
o403 113,597, 0002 *1/12*43] 37,866
OAIQI2R4E 5, 188R*10H*1802 *1.5% 141
oR2nYsrd 44,9002 x10% *31 13,919
OGXRSHEI= 44,9002 x 102 * 11 4,939
ogy=2Rag 44,9002 102 *212 *1.5% 142
OX =gt 20,0002 x 12+ 128 240
oL+ 15,0002 * 10 x 128 1,800
o=pei3aRg3 195,172,000 *4.5% 8,783
O=ALPHRHS  195,172,0002 *4.7% 9,174
onszERg= 195, 172,0002 *2.5% 4,880
OMMEERHZ 195,172,000 *3.5% 6.832
oIl =H| 1,500
- XS 50,0002 * 102 *13] 500
-gsts 35,0002 * 102 13| 350
- &gt 25,0002 %102 *135] 250
- 29 10,0002 * 10 13| 100
e p=ES) 15,0002 * 102 x23] 300
o=l 5,000& 10 *603] 3,000
OEIXZ=HIZ 30,000,000! *2% 60,000
|22 45,500 48,280 2,780
R F| 4,200 4,200 0
203 RFTY| 4,200 4,200 0
04 FANSILRFAH| 4,200 4,200 0
eORA2Y g = 4,200
oJle 350,000 * 12 4,200
SNEZ J12ZH| 41,300 44,080 ~2,780
201 ger2g 35,980 39, 160 ~3,180
01 AtR2el] 19,140 22,320 ~3,180
@AY J123| 19,140
02 32| 16,840 16,840 0
OFEA2E Z222 ¥ MA 16,840
202 oFHl 5,320 4,320 1,000
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M SALNSH

FH: IEQ SSHQ 0|2 TAIDIBAIE &5
SR DIHE Al 91X 25 (Sl &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
SA WS 22,461,223 29,608,033 A7,146,810
=2 269,000
= 22,192,223
=E° SEXOQl 0l TADIBAIE &= 12,710,635 18,686,200 A5,975,565
= 269,000
= 12,441,635
OlcHEAl Q1E2t 2= 345,800 662,200 A 316,400
= 2elAHE =g 345,800 62,200 283,600
201 LetEIH| 30,800 47,200 216,400
01 Al 30,800 47,200 216,400
@zl 22 30,800
oA FAAE
0,000& *16% *53] 5,600
o=zelAHEEH () 21 25,200
202 O4Hl 13,000 13,000 0
01 WY 13,000 13,000 0
@AY F& 13,000
203 HRF&HI 2,000 2,000 0
03 AIMZ=XHSZ=EH| 2,000 2,000 0
@OTANE AIMAR =X 2,000
401 Al&HIZL=RCHYI 300,000 0 300,000
01 Al&H| 300,000 0 300,000
@O ADIZHE HEY| 300,000
S AIDIBHAIE &= 12,364,835 18,024,000 Ab,659, 165
= 269,000
= 12,095,835
S A EHIALY 8,975,875 9,940,000 A964,125
401 Al&HIZL=ROHYI 8,967,875 9,940,000 AN972,125
01 Al&Hl 8,950,000 9,900,000 950,000
@EENs ~E0E2 =24 (L=270m) 500,000
O3 ~H L2t =24 4S(L=280m) 800,000
@Ot E~Z S2HI 2t =244 (L=300m) 1,800,000
@8t~ DA EAZ S 2IHA (L=290m) 1,100,000
O AMEA~Z 22 T2 IHA (L=695m) 700,000
@EEZTW~=T45 62 S 2 HHI(L=1,200m) 1,000,000
@OHELRA-TE2SE2 XZEE=(L=5,000m) 200,000
@2 #AH~0tXIDI2t &2 & & (L=700m) 500,000
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01 e 25,000 25,000 0
@WLRLD AN LIS 25,000
G Al 2R A Y| 8,000 8,400 A400
202 OfH| 8,000 8,400 A400
01 2Ujotbl 8,000 8,400 A400
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JEEBL L 4 21,000 66,000 A 45,000
201 Y2 ay| 21,000 66,000 A 45,000
01 At 22l 21,000 66,000 45,000
OXNEZ2H sz 10,000
@sess)l axze 1,000
OXNHERSX Mol SY222 10,000
T Al 2R A Y| 8,000 10,080 A2,080
202 0FH| 8,000 10,080 A2,080
01 2 odHl 8,000 10,080 A2,080
CEEEXSISIET L] 8,000
XD EHa g 2,300 0 2,300
=2 2,300
202 0fH| 2,300 0 2,300
= 2,300
01 =Uhotbl 2,300 0 2,300
OPNESE=E 23 2,300
= 2,300
EBEEEPEE 1,011,868 137,350 874,518
= 494,000
= 517,868
MEATD 237 143,338 90,600 52,738
201 Lsr2y| 53,738 40,600 13,138
01 At 22l 41,380 12,300 29,080
Cl=1="EPN Baag
70,0002 *23] * 1284 1,680
CJ=1="EPN ME  3002%39,0004CH 11,700
CJ=1="EPN 3,000
@T2YFA GHHXIE HE  1,0008+25,000% 25,000
02 2=l 12,358 28,300 A 15,942
OJ-1=E-PN 10,000
OZREZEA ALE RXB2
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301 LBt8 A= 19,600 0 19,600
12 JIEtE A2 19,600 0 19,600
OEZ2E A YEIX AUIK=
20,0003 1969 x5 19,600
401 AlEHI Y20 70,000 50,000 20,000
01 Al&H| 70,000 50,000 20,000
OEZ2YZTA AES B2AAX
500, 000-& x140H 70,000
EXESEgEEY 29 44,130 37,530 6,600
201 LetIH| 44 130 37,530 6,600
02 5294l 44,130 37,530 6,600
® KLIS FAIE=+= 13,030
® Oracle RXE2=x 9,210
® Arc SOE R X2 3,150
® Arc Editor RXE= 1,010
® Visibroker S XI2% 980
® GeoDT3.0 RAE % 740
®© MEAZMAAL S22 16,010
CEHLHEHS R AMLY 14,000 0 14,000
= 14,000
401 AIEHBIZ 20| 14,000 0 14,000
= 14,000
01 Al&H| 14,000 0 14,000
OMFEAAIE AIEE KSX22] 14,000
= 14,000
T 2|8t XIStAIEE =8 FEAMY 800,000 0 800,000
= 480,000
iy 320,000
401 AEHIZ 2] 800,000 0 800,000
= 480,000
iy 320,000
01 Al&H| 800,000 0 800,000
@EZ2Z2D|8F XIctAIE= &AtsH 800,000
= 480,000
iy 320,000
CHRIAIYE 29 ZH| 10,400 9,220 1,180
202 04t 10,400 9,220 1,180
01 =20 I 10,400 9,220 1,180
@YX IS0l 8,400
@OEREFAD AR =X 2,000
FHME &F Ojd 469,890 460,060 9,830
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01 ALR eIt 1,890 1,260 630
@ARE BHLY 1,890
202 Oit| 8,000 8,800 £800
01 2UH0iHI 8,000 8,800 A800
OFHEY HHYR =7 8,000
308 KHXIEHHI SO & 440,000 420,000 20,000
05 RXIEHH2R 3 440,000 420,000 20,000
Oszxe g 440,000
402 RI2X 20 H 20,000 30,000 A10,000
01 QIZTRBE 20,000 30,000 210,000
@8E I 20,000
Y2 AR (EXFLD) 30,200 31,900 A1,700
plCET 30,200 31,900 A1,700
EEESL] 4,200 4,200 0
203 HRFY| 4,200 4,200 0
04 ENRYAREAY| 4,200 4,200 0
OEN2Y g2 =X 4,200
0l 350,0002 128 4,200
SheY Jl=AHY) 26,000 27,700 A1,700
201 LByl 23,000 27,000 A4,000
01 At 2l 17,000 17,000 0
OR-ITES=11] 17,000
02 IZ2Y| 6,000 10,000 24,000
® IzT29| 6,000
202 Oit| 3,000 0 3,000
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= 507
= 127
o 126
405 AHaHR S 25,001 70,000 A44,999
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o 4,167
01 MM =SFSHI 25,001 70,000 A44,999
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[= 10,000
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[~ 10,000
= 50,000
01 MaIEHEE2E 2 60,000 50,000 10,000
ORI Y QHESAI S ()
1,0002 %10,000% 10,000
ORI L HESAlS 50,000
[= 10,000
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@I AE 7 3,370,0002 x84 A x12& 323,520
@AMIHE 2 67,5002 x8IH A 122 6,480
05 SI2+2IErS 28,560 27,600 960
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